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	Page
	Print
	Correction

	DVD App. C
	1
	DVD Appendix C, Answers Appendix, for Chapter 3, Question 5: Change the correct answer letters from “A, D” to “D”. Replace the explanation’s sentence that begins with “First, …” to the following: “The first set of messages list the root’s MAC address (1833.9d7b.0e80). These lines also list the cost to reach the root (15) rather than the phrase ‘this bridge is the root’. Those facts combine to rule out two answers.”

	DVD App C
	1
	Chapter 8, Question 2, Explanation: First line, bold wildcard mask of “255.255.255.255” should be “0.0.255.255”.

	34
	1
	Question 4, answer a – change from “on” to “trunk”.

	87
	1
	Question 5 – above answer A – delete “(Choose two answers.)”

	90
	1
	Answers at bottom of page for Question 5: Correct answer is D instead of A, D.

	142
	1
	Just above 6-6 – text “keyword login” – change to “keyword line”. Also, in Figure 6-7, in the bottom command, make the same change (“login” becomes “line”).

	182
	1
	Question 4 - Replace entire answer D with: “All the ABR's interfaces are assigned to OSPF area 0, while the other routers have their interfaces assigned to a different area, respectively.”

	270
	1
	Example 11-6 – the 8 lines of output just under the first (highlighted) line are a repeat of the previous 8 lines in the example (a copy/paste error). Delete the 2nd set of 8 lines.

	295
	1
	Under figure 12-11: four instances of the (incorrect) command “bgp” are shown. Replace “bgp” with “neighbor”.

	298
	1
	Figure 12-13 – Beside icon “R1” – “198.51.100.2” should be “198.51.100.1”

	303
	1
	Paragraph below Example 12-10 – Change two instances of “ISP2” to “ISP1”. 

	306
	1
	Question 4 – stem – strike “(Choose two answers.)”. (There is one answer.)

	328
	1
	Paragraph under heading “Implementing PPP PAP” – two bold commands begin with “authentication ppp…” – change to “ppp authentication…”

	352
	1
	Line above Figure 14-9 – change “…two OSPF-learned… to “…three OSPF-learned…”

	386
	1
	Example 15-7, 8 lines from the bottom – “interface tunnel11” to “interface tunnel12”

	391
	1
	Figures 15-22 and 15-23 – although currently correct, the IP addresses do not match the upcoming detailed examples. Swap IP addresses 10.1.3.1 and 10.1.3.2 in the figure to make these figures match the upcoming examples.

	397
	1
	2nd full paragraph, 3rd line refers to Figure “15-15”; should be “15-25”.

	453
	1
	Example 17-10 – 2nd to last line – the command should reference interface G0/1, not G0/2. Likewise, in the paragraph below the example, change two instances of “R2’s G0/2” to “R2’s G0/1” to match.

	594
	1
	Figure 23-8 – “show ipv6 route subnet mask” near bottom right – should be “show ipv6 route prefix/length”

	621
	1
	1st Paragraph – three changes: (a) first line, add “detail” to the end of the bold command. (2) second line, change the bold command to “show ipv6 eigrp interfaces”. (3) second line, replace “including” with “except”.

	646
	1
	First paragraph – 3rd line - “…and one is R2’s GigabitEthernet0/1 interface.” – replace with “…and one is the link local address of that same interface.”

	654
	1
	Table 25-6 – last row – change “ff02” to “ff00”

	665
	1
	First note – replace the entire note with: “To disable the SNMP agent, you must remove all the snmp-server commands. You can do this with a single no snmp-server command (with no parameters).” 

	674
	1
	Example 26-9 – 4th line, to the right – “writeview: v1default” should be “<no writeview specified>” (to match Example 26-7’s config).

	690
	1
	Question 3 – For three answers, add “v3” before “auth”. For the answer without “auth”, add “v3” to the end.

	742
	1
	List of answers – question 5 – change correct answer from “A” to “D”
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